
A1

I have two ________ in my pocket.

Answer: ___________________

She has five ________ in her wallet.

Answer: ___________________

They bought three ________ at the store.

Answer: ___________________

We need four ________ for the party.

Answer: ___________________

He has six ________ in his piggy bank.

Answer: ___________________

You found seven ________ on the ground.

Answer: ___________________

The teacher gave us eight ________ to solve.

Answer: ___________________

There are nine ________ on the table.

Answer: ___________________

She has ten ________ in her collection.

Answer: ___________________

We saw eleven ________ in the park.

Answer: ___________________



Answers

I have two ________ in my pocket.

Answer: coins

She has five ________ in her wallet.

Answer: bills

They bought three ________ at the store.

Answer: pens

We need four ________ for the party.

Answer: balloons

He has six ________ in his piggy bank.

Answer: dimes

You found seven ________ on the ground.

Answer: pennies

The teacher gave us eight ________ to solve.

Answer: problems

There are nine ________ on the table.

Answer: books

She has ten ________ in her collection.

Answer: stamps

We saw eleven ________ in the park.

Answer: ducks


